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Lesson 2-6: Solving Equations with the Variable on Each Side

WRITING AND SOLVING EQUATIONS
EXAMPLE 1

Find the value of x so that the figures have the same area.

A= Q. |0 2|
W T G
q.s “'-3([11-"“"' Xcam -

—€= xcm

NS——
What is the area of the rectangle 1? Al: X' 2'—' DK =34 .5
¢ N =71s
What is the area of the rectangle 27 AZ'_' (3"' X)' (D =

A1l=RAZ

Now, if the rectangles are supposed to have the SAME areas, write an equation to represent this fact.

IOX= ¥X+1®
Solve the equation: IDX‘ N“' lg
~— X | v Vv
Hx=1%
4
\ X = ’+-‘E>em.1
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EXERCISE 1

October 17, 2019

Find the value of x so that the figures have )t‘he same perimeter.

)

A

1

6

2XK+2

Perin:\:é%f rectangle 1 = btX+ X :‘ 1242X )
Periméir%- rectangle 2 = A+ 2)&"’2‘? X+ AS LA =

P1=-PZ

Equation: I’Z" 2K= ‘OX“ g"

Solve it: I’Z..(. A= (o\l\+ l_\-

Y “2#&\"2‘(\\\,
2 = Yxad
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EXAMPLE 2

Two times the least of three consecutive odd integers exceeds three times the greatest by 15. What
are the integers? oNsSWers

How do we set up the variables for CONSECUTIVE ODD INTEGERS? GD bb +‘° o
Firstodd=__ Y\

Second odd = W A 2

Third odd =_Y\ 4 <t

Equation: 2+ (IST)y=3. (3¢d)+15
Solve: 2N = '5’?(?\-‘\-\\ S o= ﬂf%_'_,'l
2N =30 +12415 }?An
2n=3n+ T
-2n|-2n
O = N2
Answer: The three consecutive odd integers are _ 2-‘ '25 . 23 )
Check: 4 ra _'Z.Hq'
220N =323+ \S
-54=-6415
-5 =-p4
Exercise 2: Four times the lesser of two consecutive even integers is 12 less than twice the greater
number. Find the integers. -?_Vens SD bb ""\A)OS .

IsTenen=n =-4

2N = N+2
deven -4+2=-2 4H (s1) = 2@nd)- 12

“\Q‘-\\'—T 2 (-2)-\2= 9 n =2 (Y\'\'Z—S_VZ_
~l(o= ~4 -\ Hn =2n+4 -\
= lb=-10 \/‘ —ipf-z%nn\-ys
The even {ntegers an=-3

xR "%00‘\0"2'
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CRITIQUE Determine whether each solution is correct. If the solution is not correct, describe the
error and give the correct solution.

a 2Q+5=22 b. 5d =2d — 18 c. —6z+13 =7z
2k 20 +5=22 3¢ 5d —2d =20 — 18 »70 M—6z+13 —6z=7z— 6z W
2¢+5—-5=22 3d = —18 13=z
29 =17 d=—6 wronccj
g=85 r'a'3h1'
wrong -!G;ézﬂ‘s =72
+£2
29140322 v [ro=
V- - \-10 13=132_
Y = 12 3 \3
—3'8._ z |l =2
=( rrgh-t
ht
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